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ALGORITM 1.1

FORTRAN PROGRAM FOR EXAMPLE ]!

C

TO SOLVE F(X) = 0 OR G(X) = X
F(X) = X — .2+SIN(X) — .5
G(X) = .5 + .2+SIN(X)
X=.5
Y = F(X)
WRITE(6,4)X,Y
DO 11=120
X1 = G(X)
Y = F(X1)
WRITE(6,5)1,X1,Y
IF(ABS (X1 — X) .LT. LE-7)GO TO 2
1 X=Xl
WRITE(6,6)
2 STOP
4 FORMAT(1HO3XIHISX 4HX(I) 12X 8HF(X(I)) //4X1HOI2E17.8)
5 FORMAT(1HO 14,2E17.8)
6 FORMAT(//36HOFAILED TO CONVERGE IN 20 ITERATIONS)
END
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COMPUTER RESULTS FOR EXAMPLE

11

I XD F(X(@)

0 0.50000000E 00 —0.95885109E-01
1 0.59588511E 00 —0.16363200E~01
2 0.61224830E 00 —0.26934631E—02
3 0.61494176E 00 —0.44042990E—-03
4 0.61538219E 00 —0.71939081E—04
5 0.61545412E 00 -0.11753291E-04
6 0.61546587E 00 —~0.19222498E - 05
7 0.61546779E 00 —0.32037497E—06
8 0.61546810E 00 —0.55879354E—-07
9 0.61546815E 00 —0.14900161E—-07
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FORTRAN SUBROUTINE FOR THE BISECTION ALGORITHM 2.i

SUBROUTINE BISECT(F,A,B, XTOL,IFLAG)
IFLAG =0
N= —1
FA = F(A)
CHECK FOR SIGN CHANGE
IF (FA*F(B) .LE./0.) GO TO 5
IFLAG =2
WRITE (6,601) A,B
601 FORMAT (43H F(X) IS OF SAME SIGN AT THE TWO ENDPOINTS
hd 2E15.7)
RETURN
5 ERROR = ABS(B — A)
. 6 ERROR = ERROR/2.
CHECK FOR SUFFICIENTLY SMALL INTERVAL
IF (ERROR .LE. XTOL) RETURN
XM = (A + B)/2.
CHECK FOR UNREASONABLE ERROR REQUIREMENT
IF (XM + ERROR .EQ. XM) GO TO 20
FM = F(XM)
C TEMPORARY PRINTOUT
N=N+1
WRITE (6,606) N,A,XM,B,FA,FM
606 FORMAT(I3,9H X-VALUES3E15.7/3X9H F-VALUES2E15.7))
CHANGE TO NEW INTERVAL

IF (FA+FM .LE. 0.) GO TO 9
A = XM
FA = FM
GO TO 6
9 B=XM
GO TO 6
20 IFLAG =1
RETURN
END

S g0 I oG98 aalip iy lenbiinl g ¢ pycaslip b 1 Jho 3 0 aliun e

EXTERNAL FF
A=1
B=2
CALL BISECT(FF,A,B,1.E—6,IFLAG)
IF (IFLAG .GT. 1) STOP
XI = (A + B)/2.
ERROR = ABS(A — B)/2.
WRITE (6,600) XL,ERROR
600 FORMAT(I13H THE ROOT IS E15.7,12H PLUS/MINUS EI15.7)

STOP
END
FUNCTION FF(X)
FF = —1. — Xs(l. — X*X)

RETURN

END

Sl Gy (YY) 02y K
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FORTRAN PROGRAM USING THE MODIFIED REGULA FALSI
ALGORITHM 2.3

EXTERNAL FG
A=1.
B =2



G O lwle aY

CALL MRGFLS(FG,A,B,1.E~7,1.E—10,30,IFLAG)
IF (IFLAG .GT. 2) STOP
XI = (A + B)2.
ERROR = ABS(B — A)/2.
FXI = FG(XI)
WRITE (6,600) XI, ERROR, FXI1
600 FORMAT (13H THE ROOT IS E15.7,12H PLUS/MINUS E15.7/
. 11H FG(ROOT) = EI5.7)
STOP
END
FUNCTION FG(X)
FG = —1. = X&(l. — X*X)
RETURN
END
SUBROUTINE MRGFLS(F,A,B,XTOL,FTOL,NTOL,IFLAG)
IFLAG = 0
FA = F(A)
SIGNFA = SIGN(l.,FA)
FB = F(B)
CHECK FOR SIGN CHANGE
IF (SIGNFA+FB .LE. 0.) GOTOS
IFLAG =3
WRITE (6,601) A,B
601 FORMAT(43H F(X) IS OF SAME SIGN AT THE TWO ENDPOINTS
* 2E15.7)
RETURN
SW=A
FW = FA
DO 20 N = I,NTOL
CHECK FOR SUFFICIENTLY SMALL INTERVAL

IF (ABS(B — A)/2. .LE. XTOL) RETURN
CHECK FOR SUFFICIENTLY SMALL FUNCTION VALUES
IF (ABS(FW) .GT. FTOL) GO TO 9
A=W
B=W
IFLAG =1
RETURN

9 W = (FA+B — FB=A)/(FA — FB)
PREVFW = SIGN(1.,FW)

FW = F(W)
C TEMPORARY PRINT OUT
NMl=N-1

WRITE (6,609) NM1,A,W,B,FA,FW .FB

609 FORMAT(I3, 9H X-VALUES3E16.8/3X9H F-VALUES3E16.8/)
CHANGE TO NEW INTERVAL

IF (SIGNFA+FW .LT. 0.) GO TO 10

A=W

FA = FW

1IF (FW+PREVFW .GT. 0.) FB = FB/2.

GO TO 20

10B=W

FB = FW

IF (FW+«PREVFW .GT. 0.) FA = FA/2.
20 CONTINUE

IFLAG = 2

WRITE (6,620) NTOL
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620 FORMAT(18H NO CONVERGENCE IN I5,i1H ITERATIONS)

RETURN
END
F +« fa)
G « f(b)
w ~ a
L
SF + signum (F)

Yes
( iFwi<FTOL ?

w +« (Feb-G*a}/(F-G)
Sw « signum {Fw)
Fw + f(w)

SFeFw <0 ?
No Yes
a +~ w b+~ w
Fe Fw G+~ Fw

FORTRAN PROGRAM USING THE SECANT ALGORITHM 24
EXTERNAL FF

X0 = 1.

X1 =2

CALL SECANT(FF,X0,X1,1.E—7,1.E~7,30,JFLAG)
IF (IFLAG .GT. 1) STOP
FX1 = FE(XI)

WRITE (6,600) X1,FXI
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600

FORMAT(13H THE ROOT IS E!5.7,11H F(ROOT) = E15.7)
STOP

END

SUBROUTINE SECANT(F,X0,X1,XTOL,FTOL,NTOL,IFLAG)

IFLAG =0

FO = F(X0)

DELTAX = X1 — X0

DO 20 N = I,NTOL

F1 = F(X1)

C TEMPORARY PRINT OUT

600

20
999

30

WRITE (6,600) N,X0,X1,F0,F1

FORMAT (15,9H X-VALUES 2E16.8/SX9H F-VALUES 2E!6.8))
IF (ABS(F!) .LE. FTOL) GO TO 30
DELTAF = F0 — Fl
IF (DELTAF .EQ. 0) GO TO 998
DELTAX = FI/DELTAF+DELTAX
X0 = X1
X1 = X1 + DELTAX
IF (ABS(DELTAX) .LE. XTOL) RETURN
FO = FI
IFLAG = 2

RETURN
IFLAG =1

RETURN
END
FUNCTION FF(X)
FF = —1. — X«(l. = X*X)

RETURN
END

o¢

FORTRAN PROGRAM USING NEWTON’S METHOD, ALGORITHM

25

600

EXTERNAL FFFFDER

X0 = 1.

CALL NEWTON(FF,FFDER,X0,1.E~-7,1.E-7,10,IJFLAG)
IF (IFLAG .GT. 1) STOP

FX0 = FF(X0)

WRITE (6,600) X0,FX0
FORMAT(13H THE ROOT IS EI15.7,11H F(ROOT) = E15.7)
STOP
END
SUBROUTINE NEWTON(F,FDERIV,X0,XTOL,FTOL,NTOL,IFLAG)
IFLAG =
DO 20 N = I,NTOL
FX0 = F(X0)
IF (ABS(FX0) .LT. FTOL) RETURN
DERIV = FDERIV(X0)

C TEMPORARY PRINT OUT

600

WRITE ¢6,600) N,X0,FX0,DERIV

FORMAT(15,16H X0, FX0, DERIV 3E15.7)

IF (DERIV .EQ. 0) GO TO 999
DELTAX = FX0/DERIV

X0 = X0 — DELTAX

20 IF (ABS(DELTAX) .LT. XTOL) RETURN
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999 IFLAG = 2
RETURN
END
FUNCTION FF(X)
FF = —1. — Xx(1. = X*X)
RETURN
END
FUNCTION FFDER(™
FFDER = 3.2XsX — .,

RETURN
END
ciwl 00T (YY) oo 500 A.L‘....\.Ms).;,.a.uKC.JLu
Yoy Jguo
Bisection Modified regula falsi Secant Newton
n Xn En Xn En Xn Xn
1.0
1.5 -10-1 1.5 -10-? 2.0 1.0

-10-1 1.1666667 1.5

-10-1 1.2531120 1.3478261
-10-3 1.3372064 1.3252004
-10-¢ 1.3238501 1.3247182
-10-4 1.3247079 1.3247180
-10-® 1.3247180

5

1.25 3-10°! 1.5833333
1.375 1-10-* 1.6616541
1.3125 6-10-2 1.3249256
1.34375 3.10 2 1.3256293
1.328125 2-10-2 1.3256305
1.3203125 8-10-2 1.3247180

bW -0
O ON WA W

10 1.3247070 5-10-*

20 1.3247180 5-10°7

-8 -

9 Y= -2 °?.’J3| )e!-‘l&’ l-' )fe!é )L.' 9 Yo=122 x,=234 4,9-]3' ),gélﬁo L

KVRPL JUAPRE xo =1

x+ 3logx —y2=0
2x2 ~xy - 5x+1=0

sl a0 TY LY Jgaz 50 gl 5 ¥ 5 piysSl 50 GyigmalS @l sy

ALGORITHM2.6

FORTRAN PROGRAM FOR EXAMPLE 2.6

C EXAMPLE 2.17 BY NEWTON METHOD

C TO SOLVE F(X,Y) =0 AND G(X,Y) =0
F(X,Y) = X + 3.+ALOGIO(X) — Y2
G(X,Y) = 2.6X#£2 — XaY — 56X + 1.
FX(X,Y) = 1. + 3.J(ALOG(10.)xX)
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FY(X,Y) = —2.+Y
GX(X,Y) =4+X ~Y - 5.
GY(X,Y) = =X
WRITE(6,6)
10 READ(5.2) X,Y
A = F(X,Y)
B = G(X.Y)
WRITE(6,3)X,Y,A,B
DO1I1=1,2
DELTAX = (- F(X,Y)*GY(X.,Y) v
s+ GOGCYWFYOOYDUEXX, Y G Y(X,Y) ~ FY(X,Y)*GX(X,Y))
DELTAY = (~G(X,Y)*FX(X,Y)
*+ FOGY )G XX, YNUFX(X, Y GY(X,Y) — FY(X,Y)xGX(X,Y))
X = X + DELTAX
Y = Y + DELTAY
A = F(X,Y)
B = G(X,Y)
WRITE(6,4) 1,X,Y,A,B
IF(AMAXI(ABS(DELTAX),ABS(DELTAY),ABS(A),ABS(B)).LT.1.E-7)
* GO TO 10
1 CONTINUE
WRITE(6,5)
GO TO 10
2 FORMAT(2E20.7)
3 FORMAT(//4X1HI8X IHX 16X 1HY 15X 6HF(X)Y) 12X
16HG(X,Y) /4XIHO4(1PE17.7))
4 FORMAT(S, 4(1PE17.7))
5 FORMAT(6HOFAILED TO CONVERGE IN 20 ITERATIONS)
6 FORMAT(28H EXAMPLE 2.17, NEWTON METHOD)
END
v Jgue
COMPUTER RESULTS FOR EXAMPLE 2.6
I X Y F(X,Y) G(X,Y)
0  3.4000000E 00 2.2000000E 00 1.5443677TE—-01  —3.6000001E—01
I 3.4899123E 00 2.2633644E 00  —4.4626594E —03 1.0471106E — 02
2 3.4874446E 00 2.2616299E 00  —3.2186508E—06 7.8678131E—06
3 3.4874428E 00 2.2616286E 00 5.9604645E—08  —0.
4 3.4874428E 00 2.2616286E 00 5.9604645E—08  —O.
I X Y F(X,Y) G(X,Y)
0  1.0000000E 00  —2.0000000E 00  —3.0000000E 00 ~0.
1 14759726E 00  —1.5240274E 00 —3.3945185E—01 2.2654986E - 01
2 1.4573549E00 —1.4011608E 00 - 1.5200734E—02 2.9807091E~03
3 1.4588864E00  —1.39677]SE 00 —1.9967556E—05  —2.0265579E — 06
4 1.4588902E 00  —1.3967670E 00 —1.4901161E—08  —1.1920929E —07
5  1.4588902E00  —1.3967670E 00 0. -~0.
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ALGORITHM 3.1

FORTRAN PROGRAM FOR EXAMPLE 7

c NEWTONS METHOD FOR FINDING A REAL ROOT OF A POLY-
c NOMIAL P(X) = 0
DIMENSION A(10)
DATA (A(D, I = 1,6)/ —6.8, 10.8, —10.8,7.4, ~3.7,1./
READ (5,3) X
WRITE (6,4)
DO 2 J =1,20
B = A(6)
C = A(®)
DO 11=14
K=6-1
B = A(K) + X+B
1 C=B+ X+C
B = A(l) + X»B
WRITE (6,5 J,X,B , C
DELTAX = B/C '
IF(ABS(DELTAX) .LT. 1.LE-7 .AND. ABS(B) .LT.
11.E-7) STOP
2 X = X - DELTAX
WRITE (6,6)
sTOoP

3 FORMAT(E20.8)

4 FORMAT(34HINEWTONS METHOD FOR FINDING A REAL
*21H ROOT OF A POLYNOMIAL//4X1HI1OX1HX14X4HB(0)
*13X4HC(D)))

5 FORMAT(S, 3(IPE17.7))

6 FORMAT(36HOFAILED TO CONVERGE IN 20 ITERATIONS)
END
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COMPUTER RESULTS FOR EXAMPLE 7

I X B(0) c)
1 1.5000000E 00  —1.0625001E—~00  3.7124998E 00
2 1.7861953E 00 7.2393334E—01  9.6004875E 00
3 1.7107894E 00 8.0013633E~02  7.5470622E 00
4 1.7001875SE 00 1.3663173E—03  7.290567SE 00
5 1.7000000E 00 4.7683716E—07  7.2861013E 00
6 1.7000000E 00  —1.1920929E~07  7.2860994E 00
7 1.7000000E 00  —5.9604645E—08  7.2860998E 00
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Multipliers 1-4000000000 0-:3500000000 0-9800000000 0-0292240000 2:639600000 1
0-2500000000 0-3500000000 0-9800000000 00292240000 0-006 6330000 0-6698550000
0-7000000000 0-980.0000000 0-029224 0000 0:006 6330000 0-002 8870000 0-189451 0000
0-020874 2857 0:029 2240000 0-0066330000 0-:0028870000 0-0009350000 0-056 8970000

Multipliers 0-8925000000 —0-215776 0000 —0-000673 0000 0:0099550000
—0-2417658263 —0-215776 0000 —0-679 3670000 —0-017 5698000 ~1-6582690001
—0-0007540616 —0-0006730000 —00175698000 0-0003249699 0:0017972354

Multiplier ~0-7315342630 -—0-0177325084 —1-6558622213
0-0242401611 —0-0177325084 0-0003244624 0-0018047421
0-0007543013 0-0419431092
X X2 X3 X4
55-6052493164 0-915666 8450 0-274460797 7 00151267191
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Jacobi’s method

Iteration Iteration
number X1 X3 X3 number X1 X3 X3
0 0-0000 0-0000 0-0000 300 104830 19-0341 —29-5170
1 —4-:0000 34-0000 —44-0000 301 9-3239 20-6761 —30-6761
2 19-8000 0-4000 —20-2000 302 104733  19-0534 --29-5267
3 —3:7200 337200 -—-43-7200 303 9-3374 206626 —30-6626
4 19-6040 0-7920 —20-3960 304 104638 19-0723 —29-5362
5 —3-4456 33-4456 —43-4456 305 93506 20-6494 —30-6494
6 194119 1-1762 —20-5881 306 10-4546 19-0909 —29-5454
7 —3-1767 331767 —43-1767 307 9-3636 20-6364 —30-6364
8 19-2237  1-5526 —20-7763 308 10-4455 19-1091 —29-5545
9 —2:9132 329132 —429132 309 9-3763 20-6237 —30-6237
100 13-6417 12-7166 —26-3583 400 10-1759 19-6482 —29-8241
101 49016 25-0984 —35-0984 401 9-7538 202462 —30-2462
102 13-5689 12-8623 —26-4311 402 10-1724 19-6553 —29-8276
103 50036 249964 —34-9964 403 9-7587 20-2413 —30-2413
104 13-4975 13-0050 —26-5025 404 10-1689 19-6622 —29-8311
105 5-1035 24:8965 —34-8965 405 9-7635 20-2365 —30-2365

106 134275 13-1449 —26-5725 406 10-1655 19-6689 —29-8345
107 5:2014 24:7986 —34-7986 407 97682 20-2318 —30-2318
108 13-3590 132820 —26:6410 408 10-1622 19-6755 —29-8378
109 5:2974 247026 —34-7026 409 97729 20-2271 -30-2271

200 11-3262 17-3476 —28-6738 490 10-0709 19-8583 —29-9291

201 8-1433 21-8567 —31-8567 491 99008 20-0992 —30-0992
202 11-2997 17-4007 —28-7003 492 10-0694 19-8611 —29-9306
203 8-1805 21-8195 —31-8195 493 99028 20-0972 —30-0972
204 11-2737 17-4526 -—28-7263 494 10-0681 19-8639 —29-9319
205 82169 21-7831 -—31-7831 495 9-9047 20-0953 —30-0953
206 11-2482 17-5036 —28-7518 496 10-0667 19-8666 —29-9333
207 82525 21-7475 —31-7475 497 9-9066 20-0934 —30-0934
208 11-2232  17-5535 —28-7768 498 10-0654 19-8693 —29-9346
209 8:2875 21-7125 -—31-712§ 499 9-9085 20-0915 -—-30-0915

Gauss-Seidel method
0-0000 0-0000 0-0000 200 10-1436 20-2010 —29-8593
—4-0000 312000 -—22-1600 201 10-1407 20:1970 -—29-8621
17-8400 309760 —22-3168 202 10-1379 20-1930 —29-8649
17-6832 307565 —22-4705 203 10-1351 20-1892 —29-8676
17-5295 30-5414 —22:6211 204 10-1324 20-1854 —29-8702
17-3789 30-3305 ~—22-7686 205 10-1298 20-1817 —29-8728
17-2314 301239 —22-9133 206 10:1272 20-1781 —29-8754
17-0867 299214 —23-0550 207 10-1246 20-1745 —29-8779
169450 29-7230 —23-1939 208 10-1221 20-1710 —29-8803
16:8061 29-5285 —23-3300 209 10-1197 20-1676 —29-8827

100 11-0826 21-5157 —28-9390 290 10-:0233 20-0326 —29-9772
101 11-0610 21-4853 —28-9603 291 10-0223 20-0320 -—29-9776
102 11-0397 21-4556 —28-9811 292 10-0224 20-0313 —29-9781
103 11-0189 21-4265 —29-0014 293 10-0219 20-0307 —29-9785
104 10-9986 21-3980 —29-0214 294 100215 20-0301 —29-9789
105 10-9786 21-:3700 —29-0410 295 10-0211 20-0295 -—29-9794
106 10-9590 21-3426 —29-0602 296 10-0206 20-0289 —29-9798
107 109398 21-3158 —29-0790 297 10-0202 20-0283 —29-9802
108 109210 21-2895 —29-0974 298 10-0198 20-0278 —29-9806
109 109026 21-2637 —29-1154 299 10-0194 20-0272 —29-9810
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Successive over-relaxation

w=175
Iteration
number X1

0 0-0000

1 —7-0000

2 60-6331

3 42-6784

4 70-2502

5 52-3143

6 61-9496

7 47-4506

8 49-5538

9 38-8996
10 38-1974
11 30-7797
12 29-3062
13 24-3161
14 22-8664
15 19-5872
16 18-4122
197 16-2935
18 154231
19 14-0712
20 13-4590
21 12-6046
22 12-1881
23 11-6521
24 11-3751
25 11-0408
26 10-8598
27 10-6522
28 10-5353
29 10-4069
30 10-3321
31 10-2529
32 10-2055
33 10-1568
34 10-1269

X2

0-0000
50-9250
77-6762
89-1910
91-4302
88-3146
82-:3778
752177
67-8081
60-7120
54-2268
48-4824
43-5067
39-2681
357037
32-7369
30-2879
28-2802
26-6437
25-3163
24-2440
23-3808
22-6883
22-1340
21-6916
21-3391
21-0588
20-8363
20-6599
20-5202
20-4098
20-3226
20-2538
20-1996
20-1568

X3
0-0000
—14-6169
29-1159
10-4220
27-1854
10-7963
15-8156
3-2800
3-6049
—5-3315
—6-5736
—12:6788
—14-1952
—18-2502
—19-5753
—22:2159
—23-2354
—24-9302
—25-6638
—26-7397
—27-2464
—27-9237
—28-2641
—28-6877
—28-9120
—29-1756
—29-3213
—29-4846
—29-5782
—29-6791
-—29-7387
—29-8008
~—29-8385
—29-8767
—29-9004

Iteration
number
35

Xy
10-0969
10-0782
10-0598
10-0481
10-0369
10-0295
10-0227
10-0181
10-0139
10-0111
10-0086
10-0068
10-0052
10-0042
10-0032
10-0026
10-0020
10-0016
10-0012
10-0010
10-0007
10-0006
10-0005
10-0004
10-0003
10-0002
10-0002
10-0001
10-0001
10-0001
10-0001
10-0000
10-0000
10-0000
10-0000

X2
20-1232
20-0967
20-0759
20-0595
20-0467
200366
20-0287
20-0225
20-0176
20-0138
20-0108
20-0085
20-0066
20-0052
20-0041
20-0032
20-0025
20-0019
20-0015
20-0012
20-0009
20-0007
20-0006
20-0004
20-0003
20-0003
20-0002
20-0002
20-0001
20-0001
20-0001
20-0001
20-0000
20-0000
20-0000

cauaS 430 YU g ol S sl S LU wpadols> oygos | )

4 2

1 -2

A 2 -3
—1 2

-1
3
5
~1

N = =D

X3
—29-9238
—29-9387
—29-9530
—29-9623
—29-9711
—29-9769
—29-9822
—29-9858
—29-9891
—-29-9913
—29-9933
—29-9947
—29-9959
—29-9967
—29-9975
—29-9980
—29-9985
—29-9988
—29-9991
—29-9993
—29-9994
—29-9995
—29-9996
—29-9997
—29-9998
—29-9998
—29-9999
—29-9999
—29-9999
—29-9999
—30-0000
—30-0000
—30-0000
—30-0000
—30-0000

ol ¥

ol 0 aS ol aolgs AX=B ol J> as job &S ayias oul s L

BT= [op—sl_si3]
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0 0 071
Ly 0 O[O
133 0 0

0

143

hy

121

U2 U3
Ups

Ly b

o O =
P

I‘l I 42 I“

Iu = 4
by =2
hyuys = —1
lys=0

lzl = 1

byt + hy=—2
byugs + hatty3 =3
by = bty =1

131 = 2

Lyyz + b= —3

byyitys + bgtizs + i3 =35
Iyguyy + battze + liattss =0

141 =—1

Ly + =2

Lattys + Lty + lis = —1

Lttrs + ligting + listtse +lu =6

4 0 o0 0
1 -25 0 0
2 -4 03 0
—1 25 20 110|]»

1 5 —025 0
0 1 -13 —04
0 0 1 —-20
0o 0 0o 1
Xe= —2, x3=6,  X3=09,

Xy
X2
X3
X4

B> Yo le sBins >

|

N

w
N = O

Uy = —0-25
U4 = 0

In= 1

Izz = '—'2’5
Un= —13
U = —04

131 = 2
Igz= —4
133 = 0'3
Uy = —2:0

141——'——1
I4z=2'5
l43=2~0
144=11'0
0 -
-5
-5
3 N
Y=-2 .
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0
2
10
-2
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iy By Slemlsz oS auo Gleo ol ddobo jo el ol ole S5 L

casleas T

D 655 aw Yol s gene Jo> e glho —0
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3 -2 -3 0 Offx,
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ARR

S asealeslo 436) 3 (4.35), (4.39) WYl aligs oS wlogs ady S

¢1=2

g=—2—3 X 05
=35

oy = —4 —4 x 0857143
= —7428752

a,=3+1 X (—0-269231)
== 2:730 769

as = 7-661970

U= %
=15

U =(2— 3 % 1-5)/(—3-5)
=0-714 286

» é’)‘;o

73 = 2[(—T7-428572)
= —0-269231

Y4 = 2/2-730769
= —0-7323%

uy=(1—4 X 0-714826)/(—7-428 572)
25

=0

= (0 + 1 X 0-25)/2-730 769

= 0-091 549

ug= (—1— 5 x 0-091 549)/7-661970

= —(-190257

x5 = —0-190257

LW JY Y- yORE-Y R 1 PR P O

x4 = 0-091 549 + 0-732394 x (—0-190257) = —0-047 794
X3 = 0-25 4 0-269 231 X (—0:047794) = 0-237 132

Xx; == 0-714286 — 0-857143 x 0-237132 = 0-511 030
xy=1-5~ 05 x 0-511030 = 1-244485
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( SUBST ) 3 3 651l (£.1) 2295
a0 gy 631361 a3y P sary nslay g W ol 63T ppe npadls L
1ol aalys ) e

k=1,...,n sy
, P R I
k-1
53 = b,~ - IZ} W,'JE’
k=nn-1,...,1 sy
a2 g0 518
.= 51: "l_g+ lwnlxz
k wpgk
ccawl 00 03,37 (F.1) 658 sabiy 5 398 piyeil 0l 505
ALGORITHM 4.1

SUBROUTINE SUBST(W,B,X,IPIVOT,N)
DIMENSION W(N,N),B(N),X(N),IPIVOT(N)
IF (N .GT. ) GO TO 10
X(1) = B(1)/w(1,1)
RETURN
10 IP = IPIVOT(1)
X(1) = B(P)
DO 15 K = 2,N
IP = IPIVOT(K)
KMI=K-~-1
SUM = 0.
DO 14 J = 1,LKMI
14 SUM = W({IP,D)sX(J) + SUM
15 X(K) = B(IP) — SUM

X(N) = X(N)/W(IP,N)
K=N

DO 20 NPIMK = 2,N
KPl = K
K=K-1
IP = JPIVOT(K)
SUM = 0.
DO 19 J = KPI,N
19 SUM = W(IP,J)«X({J) + SUM
20 X(K) = (X(K) — SUM)/W(P,K)
RETURN
END

(FACTOR ) o (b 55 5, Spma b ugl€ Qi (£.) 023601

SrS97e 9 Nx N asiyo 31 Womeyilo o NxN 64550 51 Aumessle sy poiuyoSI1 ol



o Slhwlw AR

by jlaolisnl gy sobTg oo 0 s Nawy b IPIVOT jloy g0 o |,
035 63055 sl Dol gn N Bl 41000 S syly oimad . 93,8 g0 SUBST
Cypony SUBST o igb pessIlaliys e+ 80 56 a2 A o yile 510 b 050!
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ALGORITHM 4.2

SUBROUTINE FACTOR(A,W,IPIVOT,D,N,IFLAG)
DIMENSION A(N,N),W(N,N),IPIVOT(N),D(N)
IFLAG = 1
c INITIALIZE W, IPIVOT, D

: DO 101 = I,N
IPIVOT(l) = I
ROWMAX = 0.
DO9J=1IN

9 ROWMAX = AMAXI1(ROWMAX,ABS(W(LJ)))
IF (ROWMAX .EQ. 0.) - GO TO 999
10 D(I) = ROWMAX
c GAUSS ELIMINATION WITH SCALED PARTIAL PIVOTING.

NMl =N -1
IF (NMI .EQ. 0) o RETURN
DO 20 K = 1,NMI
I=K
KPl =K + 1
1P = IPIVOT(K)
COLMAX = ABS(W(IP,K))/D(IF)
DO 11 I = KPI,N
IP = IPIVOT()
AWIKOV = ABS(W(IP,K))/D(IP)

IF (AWIKOV .LE. COLMAX) GO TO 11
COLMAX = AWIKOV
J=1
11 CONTINUE
IF (COLMAX .EQ. 0.) GO TO 999

IPK = IPIVOT(J)

IPIVOT(J) = IPIVOT(K)
IPIVOT(K) = IPK
DO 20 I = KPI,N
IP = IPIVOT(I)
W({IP,K) = W(IP,K)/W(IPK,K)
RATIO = - W(IP,K)
DO 20 J = KPLN
20 W(IP,J)) = RATIO»W(IPK,)) + W(P,))

IF (W(IP,N) .EQ. 0.) GO TO 999
. RETURN
999 IFLAG =2
RETURN
END

$5% SpSipme Jos 5 gl Gi> S 0 g emelS aabyy 3l ol Lo g
» S Ly 1y 505 o yile oS0 002w Lila



Ay b Vol oEany s

2 3 -1
A=| 4 4 -3
L2 3 -

g Wools asgas cpuimad 3 SUBST 9 FACTOR sbosoliys yuy oS a0 A (950
NV JURERMRVR ¥ (PYCTONN Y TP X URIICIA

o 9 Sl Kol culpbe asl besls 1 i ab A eyl Nosis
Soo wyle o L 9ylas 852 908 (eddio A sl s aa aaby bl
coS e by NxN oz I WL A sl SUBST 3 FACTOR el s 5
o p>d oSy Sype & A lopy oS by 59 cdggu sl e
Jolo (N, M) gangs 51 (1,0) paie oS ol jelie ool o ol L 0080
| a8l o anny 31 ((J-1) N1 )
ANV s9arSs Sy 31 AT! uasile o0 G 095 0p58 sl oized
soag LATNVG! ((J=1)% N1 ) e SUBST aaliye e - 98,5 g0 0 liia!
9o & 4&'-'-‘ ol 058 0 SUBST ;9 X lop paie oudgl sgluo oS
| V385 00> AX = IJ.*

ALGORITHM 4.3
IBEG = 1
DO 30J = I,N
B() = 1. :
" CALL SUBST(A,B,AINV(IBEG),IPIVOT,N)
BQ) = 0.,

30 IBEG = IBEG + N
WRITE (6,630
630 FORMAT24dITHE COMPUTED INVERSE IS /)
DO 31 1= 1N .
31 WRITE (6,631) L,(AINV(J),J = L,NSQ,N)
631 FORMAT(SHOROW 12,8E15.7/(7X8E15.7)
' , GO TO 1
END

SAMPLE INPUT

3

2. 3. ~L
4, 4, -3
-2, 3. -1,

RESULTING SUTPUT
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ROW 1 0.2500000E00 0.0 —0.2499999E 00
ROW 2 0.5000000E 00 -—0.1999998E00  0.9999996E 0l
ROW 3 0.1000000E 01 ~0.6000000E 00 —0.2000000E 00

FORTRAN PROGRAM FOR CALCULATING THE INVERSE OF A
GIVEN MATRIX

DIMENSION A(900),AINV(900),B(30),IPIVOT(30)
1 READ (5,501) N
501 FORMAT(12)
C " READ IN MATRIX ROW BY ROW.
NSQ = Ns«N
DO 10I=1N
10 READ (5,510) (A(J),J = LNSQ,N)
510 FORMAT(5SE15.7)

C
CALL FACTOR(A,A,IPIVOT,B,N,IFLAG)
GO TO (20,11),JFLAG
11 WRITE (6,611)
611 FORMAT(19HIMATRIX IS SINGULAR)
GO TO 1
C

20 DO 21 I = I,N
21 B() = 0.
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ALGORITHM 4.4

FORTRAN PROGRAM FOR EXAMPLE 7

DIMENSION A(10),D(10),C(10),B(10)
N =10
DO10I=1N
A(D = —1.
D) = 2.
I = -1,

10 B(D = 0.
B(1) = 1.
CALL TRID(A,D,C,B,N)
WRITE (6,610) (I,B(),I = 1,N)

610 FORMAT(16HITHE SOLUTION 1S /(I5,E15.7)

STOP
END
SUBROUTINE TRID(SUB,DIAG,SUP,B,N)
DIMENSION SUB(30),DIAG(30),SUP(30),B(30)
IF (N .GT. D) GO TO 10
B(1) = B(1)/DIAG(1)

10 DO 11 K = 2,N
RATIO = ~SUB(K)/DIAG(K — 1)

RETURN



DIAG(K) = DIAG(K) + RATIO+SUP(K - 1)
11 B(K) = B(K) + RATIO*B(K - 1)

B(N) = B(N)/DIAG(N)
K=N
DO 12 NPIMK = 2,N
K=K-1

12 B(K) = (B(K) — SUP(K)+B(K + 1))/DIAG(K)

RETURN

END

OUTPUT
THE SOLUTION IS

0.9090915E
0.8181832E
0.7272751E
0.6363666E
0.5454577E
0.4545485E
0.3636391E
0.27272935E
0.1818197E
0.9090990E — 01

2838838883
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ALGORITHM 4.5

GRAM FOR EXAMPLE 9

PN LT 2 S0
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ARQJ) = -
BJ) =0.
10 X(J) = 0.
B()=1
B(20) = 1.

CALL GSTRI(20,AL,AD,AR,BX,1.E — 6)
PRINT 600, (J,X(J),J = 1,20)

600 FORMAT (16H1THE SOLUTION IS/(IS E20. 8))
‘STOP
END

. SUBROUTINE GSTRI(N,AL,AD,AR,B,X,EPS)

TO SOLVE A TRIDIAGONAL LINEAR SYSTEM OF THE FORM

AD(1)*X(1), + AR(1)*X(2) = B(l) ' :
AL(*Xd — 1) + ADDeX(®) + ARD+X(I + ) =BD, I=2, ...,

N — 1, ALQN)#X(N — 1) + AD(N)*X(N) = B(N)

BY GAUSS-SEIDEL ITERATION. STARTING WITH THE GIVEN X,
THE ITERATION IS CARRIED OUT UNTIL EITHER MORE THAN
1000 STEPS HAVE BEEN TAKEN OR ELSE THE RELATIVE CHANGE
IN X DURING AN ITERATION STEP 1S LESS THAN THE GIVEN
EPS.

DIMENSION AL(1),AD(1),AR(1),B(1),X(1)
DO 10 J = I,N
IF (AD(J) .EQ. 0) GO TO 999
AL(J) = AL(J)/ADQ)
AR() = ARQ)/ADQ)
10 BJJ) = B()/ADW)

DO 30 ITER = 1,1000

I=1
DIFMAX = 0..
XMAX = 0.
XNEW = B(1) — AR(1)+X{2}
: , GO TC 13
11 XNEW = B(N) — ALQ)#X(N - 1)
GO TO I3

12 XNEW = B(l) — AL(D=X(} — 1) — ARD+XI + 1)

13 DIFF = XNEW — X(I)
X = XNEW
XMAX = AMAXI(XMAX,ABS(XNEW))
DIFMAX = AMAXI1(DIFMAX,ABS(DIFE))

I=1+1
IFd-N) 12,11,19

19 TEST = DIFMAX/XMAX.
IF (TEST .LT, EPS) RETURN

30 CONTINUE

999 PRINT 600

600 FORMAT (23H ITERATION UNSUCCESSFIIL)

END
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30 0.89844144 0.34722738 1.63(-2) 0963 : - - 0.988 - - -

100 0.97746982 0.86366559 3.15(-3) 0977969 - - - 0977976 - - -
140 0.99082111 0.94448888 1.27(-2) 0.97778708 - - - 0.97779869 - - -
200 0.99761522 0.98557816 3.28 (—4) 0.97778641 - - - 0.97778660 - - -
300 0.99974774 0.99847447 347 (-5 0.97778640 - - - 0.97778640 - -
400 0.99997332 0.99983863 3.67 (-6) 0.97778640 - - - 0.97778640 - - -
455 0.99999224 0.99995309 1.07 (—6) 0.97778640 - - - 0.97778640 - - -
456 0.99999275 0.99995615 9.60 (-7) 0.97778640 - - - 0.97778640 - - -
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0.20x; + 0.32x3 + 0.12xy + 0.30x, = 0.94
0.10x, + 0.15x3 + 0.24x3 + 0.32x, = 0.81
0.20x, + 0.24x; + 0.46x3 + 0.36x, = 1.26
0.60x; + 0.40x; + 0.32x5 + 0.20x, = 1.52
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—2x, ~ 2x; + 2x, + 5xg — 2x4 — 3x, = 0
5K, + Xy + 5xy — 3xg + Xg + 4%+ 11Xy + 2% = 12
4x; + 6x, —4x, + 10xs + Sx; ~4xg = 11
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x . +cosy . = 090710678
x*+tany ~¢e* = 0.67212056
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= 1984
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Xn Fn Ja= —a? Hxn) = 1/xa
1.0 1.00000000 - 1.00000000

1.1 0.90909091 —0.82644628 0.90909091

1.2 0.83333333 —0.69444444 0.83333333

1.3 0.76923077 —0.59171598 0.76923077

1.4 0.71443632 —0.51041926 0.71428571

1.5 0.66686030 —0.44470266 0.66666667

1.6 0.62524613 —0.39093272 0.62500000

Y=x+y »0=0
couS Jo ey — peloT gy x =T b =0l

Ny

8-¥ Jsoa

sadoles— Yo

G50 laa Ll s ;50 398 sl sl (T aulic 5 55,8 alpy
s Slar ol LT ke Jle - y=er 1 - 5 iy lie alie 0

oy oo pgo ogiw ch=gr Ll x polls bl gyin udgl . wlenT
elio . aapo o Glo 1 glhe slhs o lea i § bl cusy Guibo Gly>

FORTRAN PROGRAM FOR EXAMPLE 10

C

C
C
C

ADAMS-BASHFORTH METHOD

DIMENSION F(4)

SOLN(X) = EXP(X) - 1.0 -~ X

=+ INITIALIZE
WRITE (6,500)
N=4
H=1/32
NSTEP = 32
Y0 = 0.0

X0 = 0.0

EN = 0.0

NZ =0

A Cay 3 Saoly 03,5 U
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C +«+ COMPUTE FIRST FOUR POINTS USING EXACT SOLUTION
F(1) = X0 + YO
WRITE (6,510) NZ,X0,Y0,Y0,EN
XN = X0
DO 20 I=24
K=I-1
XN =XN+H
YN = SOLN(XN)
F() = XN + YN
WRITE (6,510) K,XN,YN,YN,EN

C
C

20 CONTINUE

+«* BEGIN ITERATION
DO 50 K = 4,NSTEP
YN = YN + (H/24.)x(55.+F(N) — 59.¢F(N — 1) + 37.¢F(N - 2) —

X9.+F(N — 3))

XN =XN+H

F(N - 3)=F(N-2)
FIN=-2)=FN-1)

F(N - 1) = F(N)

F(N) = XN + YN
YXN = SOLN(XN)
EN = YN — YXN
WRITE (6,510) K, XN,YN,YXN,EN

50 CONTINUE
STOP

500 FORMAT (23HIADAMS-BASHFORTH METHOD/
" X1THO4X1HN6X2HXNISX2HYNISXSHY(XN)ISX1SHEN = YN ~ Y(XN))

510 FORMAT (1H 2XI3,4X 4(E16.8,4X))

END

COMPUTER RESULTS FOR EXAMPLE :10

N XN YN Y(XN) EN = YN — Y(XN)

0 o 0. 0. 0.

1 0.31250000E-01  0.49340725E-03  0.49340725E-03 0.

2 0.62500000E-01  0.19944459E-02  0.19944459E-02 0.

3 0.93750000E-01  0.45351386E-02  0.45351386E-02 0.

4  0.12500000E-00  0.81484411E-02  0.81484467E-02  —0.55879354E-08

5 0.15625000E-00  0.12868421E-01  0.12868434E-01  —0.12922101E-07

6  0.18750000E-00  0.18730211E-01  0.18730238E-01  —0.26309863E-07

7 0.21875000E-00  0.25770056E-01  0.25770098E-01  —0.41676685E-07

8 0.25000000E-00  0.34025350E-01  0.34025416E-01  —0.65192580E-07

9  0.28125000E-00 0.43534677E-01  0.43534756E-01  —0.78696758E-07
10 0.31250000E-00  0.54337843E-01  0.54337934E-01  —0.90803951E-07
11 0.34375000E-00  0.66475919E-01  0.66476032E-01  —0.11269003E-06
12 0.37500000E-00  0.79991280E-01  0.79991400E-01  ~0.12014061E-06
13 0.40625000E-00  0.94927646E-01  0.94927788E-01  ~0.14156103E-06
14 0.43750000E-00  0.11133012E-00  0.11133029E-00  —0.16111881E-06
15 046875000E-00  0.12924525E-00  0.12024545E-00  —0.19185245E-06
16 0.50000000E 00  0.14872105E-00  0.14872126E-00  ~0.21234155E-06
17 0.53125000E 00  0.16980705E-00  0.16980730E-00  —0.24400651E-06
18 0.56250000E 00  0.19255438E-00  0.19255465E-00  ~0.26822090E-06
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N XN YN Y(XN)  EN=YN - Y(XN)
19 0.59375000E 00  0.21701577E-00  0.21701607E-00  —0.29988587E-06
20 0.62500000E 00  0.24324562E-00  0.24324594E-00  ~0.31664968E-06
21 0.65625000E 00  0.27130008E-00  0.27130044E-00  —0.34645200E-06
22 0.68750000E 00  0.30123707E-00  0.30123746E-00  —0.39115548E-06
23 0.71875000E 00  0.33311634E-00  0.33311677E-00  —0.42840838E-06
24 0.75000000E 00  0.36699954E-00  0.36700001E-00  —0.46566129E-06
25  0.78125000E 00  0.40295030E-00  0.40295079E-00  —0.49173832E-06
26 0.81250000E00  0.44103424E-00  0.44103476E-00  —0.52526593E-06
27 0.84375000E00  0.48131907E-00  0.48131964E-00  —0.56624413E-06
28 0.87500000E00  0.52387466E 00  0.52387527E 00  —0.61094761E-06
29  0.90625000E 00  0.56877308E 00  0.5687737SE 00  —0.66310167E-06
30  0.93750000E 00 0.61608872E00  0.61608934E 00  —0.71525574E-06
31 0.96875000E 00  0.66589829E 00  0.66589907E 00  —0.77486038E-06
32 0.09999999E 01  0.71828098E00  0.71828181E 00  —0.82701445E-06
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FORTRAN PROGRAM FOR EXAMPLE 10

DIMENSION X(17),D(17)
F(X) = L/(1. + X+X)
WRITE (6,600)
600 FORMAT(1H1,3X1HN5X13HMAXIMUM ERROR)

DO 40 N = 2,16,2
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NPl =N+1
H = 10./FLOAT(N)
DO 10 I = 1,NP1
X(I) = FLOAT(I — 1)+H — 5.
10 D(D) = FXD)
CALCULATE THE COEFFICIENTS OF INTERP. POL. BY ALGORITHM 4.3
DO 20 K = I,N
NPIMK = NPI — K
DO 20 I = 1,NPIMK
IPK=1+K
20 D(I) = (DA + 1) — DDXAPK) — X(D)
C  ESTIMATE MAXIMUM INTERPOLATION ERROR ON (-5,9).
= -5
ERRMX = 0.
. DO 30 J = 1,101
CALCULATE PN(Y) BY ALGORITHM 4.1
PNOFY = D(1)
DO 29 K = 2,NPI
29 PNOFY = D(K) + (Y — X(K))*PNOFY
ERROR = ABS(F(Y) — PNOFY)
IF (ERROR .GT. ERRMX) ERRMX = ERROR
VY=Y+.1 i
40 WRITE (6,640) N,ERRMX
640 FORMAT(IS,E18.7)
STOP
END

COMPUTER OUTPUT FOR EXAMPLE 1(
MAXIMUM ERROR

N

2 6.4615385E-01
4 4.3813387E—-01
6 6.1666759E —01

8 1.0451739E+ 00
10 1.9156431E 400
12 3.6052745E +00
14 7.1920080E + 00
16 1.4051542E+01
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END

I = 7.9482833-01

JUS5 goyis —

) = jo‘ e dx
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Syuly Jgor
0.7313700E 00
0.7429838E 00  0.7468551E 00
0.7458653E 00  0.7468258E 00  0,7468238E 00
0.7465842E 00  0.7468238E 00  0.7468237E 00  0.7468237E 00
0.7467639E 00  0.7468237E 00  0.746823TE 00  0.7468237E 00
0.7468069E 00  0.7468212E 00  0.7468210E 00  0.7468210E 00

0.7468237E 00
0.7468209E 00
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FORTRAN PROGRAM FOR EXAMPLE /

DIMENSION T(10,10)
M=2
KMAX =6
A=0.
B=1
H = (B — A)/FLOAT(M)
SUM = (F(A) + F(B))/2.
MMl =M -1
IF (MM1) ) 40,10,8
8§ DO 9 I = I,MMI
9 SUM = SUM + F(A + FLOAT{I)+H)
10 T(1,1) = SUM+H
WRITE (6,600)
600 FORMAT(1H110X15SHROMBERG T-TABLE/))
WRITE (6,601) T(1,1)
~ 601 FORMAT(7E15.7)
C
DO 20 K = 2,KMAX
H = Hj2.
M = Ma2
SUM = 0.
DO 11 I=1M.2
11 SUM = SUM + F(A + FLOAT(I)«H)
T(K,1) = T(K — L,1)/2. + SUM»H
FOURJ = 1.
DO 12J=2K
FOURJ = FOURJ+4,
C SAVE DIFFERENCES FOR LATER CALC. OF RATIOS
TK-1J-1D=TKJ-1)-T(K~-1]1-1)
12 T(KJ) = T(KJ — 1) + T(K - 1,J = 1)/(FOURJ — 1)
20 'WRITE (6,601) (T(K,)).J = 1,K)
KMAXM2 = KMAX —2
IF (KMAXM2) 40,40,29
CALCULATE RATIOS
29 WRITE (6,602)
602 FORMAT(///11XI1SHTABLE OF RATIOS/))
DO 35 K = LKMAXM2
DO 30J=1K
RATIO = 0.
IF (ABS(T(K + 1,J)) .GT. 0.) RATIO = T(K,J))/T(K + 1,J)

30 T(K,J) = RATIO
35 WRITE (6,603) (T(K,J),J = 1,K)
603 FORMAT(8F10.2)
40 STOP
END
FUNCTION F(X)
F = EXP(—XsX)
RETURN
END



Goae O hwlsw Y¢Y

coim e oTsls g oS5 slinggd 0l Jgoydosamgs b — A

IN%Ta=h Y fi+ 2o+

{=1

_ _ [k~ a)
Byt = 12

oy Sty 52 B [lem P 51 oy o S gas pliz b N sas
s ol goo S Olus cls ey e 1y oo 05 2S £55 80 Cuun
v Gl 1
1 Je
Jbo ol 50

f)=e** a=0,b=1
tesla—te gt oo N2 Sy sladygd ash s iyl
3! oy b s poleo h g2 - ol pead)

f7(IN-2
oTv?sxx 12

30 &S [ = ax(3 — 222 a3Me g S0 = et —2) bl L s

élﬁ&'x:O 39[0,1) y» max |f"(x)] U"‘)“L"""’f"gs“)s“ x= %15 § x=0

Jmax 17l = max {{f7(0),1/ (D]} = max {2,2¢"3} = 2 ‘

S oS bl gyeb 1y, N b (13

2N -2

.10-7
i3 < 5-10

105 107
2 — ——
Ne>5 =63

10°
N> —\7§~ 578
CARD 0 s Ay N oo 31 gam shlas ) omyss Jlode o) 6 sume i

Losolammloe jlass [(DP) g Jeore w80 L sadaswlon jlods T(SP) 31 sl



Yiy : $3as pS NSl

ol e las wde

N 1(sP) 1(DP)

50 7.4679947E-01 7.4679961D-01
100 7.4681776E-01 7.4681800D-01
200 7.4682212E-01 7.4682260D-01
400 7.4682275E-01 7.4682375D-01
800 7.4682207E-01 7.4682404D-01

il 000T LS g,y o.g‘hbx

FORTRAN PROGRAM FOR EXAMPLE 8 (SINGLE PRECISION)

C EXAMPLE 5.2, TRAPEZOIDAL INTEGRATION
F(X) = EXP(—X**2)

WRITE(6,3)
READ(5,4)A,B,N
T = F(A)/2.
Nl=N-1
H = (B — A)/FLOAT(N)
DO 21=1, NI
2 T =FA + FLOATO*H) + T
T = (F(B)/2. + T)*H
WRITE(6,5)A,B,N,T
GO TO 1
3 FORMAT(36H EXAMPLE 5.2 TRAPEZOIDAL INTEGRATION)
4 FORMAT(2E20.0,I5)
5 FORMAT(18HO INTEGRAL FROM A = 1PE14.7,7H TO B = 1PE14.7,
19H FOR N = I5,4H IS 1PE14.7)
END

—
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FORTRAN PROGRAM

C EXAMPLE 9 CORRECTED TRAPEZOID RULE
F(X) = EXP(—Xs+X)
FPRIME(X) = —2.sX+F(X)

A=0
B=1.
WRITE (6,600)

600 FORMAT(9X1HN7X13HTRAPEZOID SUM7X13HCORR.TRAP.SUM)
DO 10 N = 10,15
H = (B — A)[FLOAT(N)
NMi=N-1
TRAP = (F(A) + F(B))/2.
DO 1 I = 1,NMI
1 TRAP = TRAP + F(A + FLOAT(l)*H)
TRAP = HsTRAP
CORTRP = TRAP + HsHs(FPRIME(A) — FPRIME(B))/12.
10 WRITE (6,610) N,TRAP,CORTRP
610 FORMAT(10,2E20.7)
STOP
END



soue b Y
Single precision ‘5’30-” s
N TRAPEZOID SUM CORR.TRAP.SUM
10 0.7462108E 00 0.7468239E 00
11 0.7463173E 00 0.7468240E 00
12 0.7463983E 00 0.7468240E 00
13 0.7464612E 00 0.7468240E 00
14 0.7465112E 00 0.7468240E 00
15 0.7465516E 00 0.7468241E.00
Double precision
N TRAPEZOID SUM CORR.TRAP.SUM
10 7.4621080E-01 7.4682393E-01
11 7.4631727E-01 7.4682399E-01
12 7.4639825E-01 7.4682403E-01
13 7.4646126E-01 7.4682406E-01
14 7.4651126E-01 7.4682408E-01
15 7.4655159E-01 7.4682409E-01

Selas g dyoro B0 L1y q Jlo 5 dumnpiy Ggugonmw ol sl glalp—1o

il gy 58 e dabp g pubis L auS o

Vo Jlio 5 5gmel pulis

N I(SP) I(DP)

25 7.4682406E-01 7.4682413D-01
50 7.4682400E-01 7.4682413D-01
100 7.4682392E-01 7.4682413D-01

FORTRAN PROGRAM FOR EXAMPLE 10 (SINGLE PRECISION)

C EXAMPLE 5.4 SIMPSON’S RULE
F(X) = EXP(—X**2)
WRITE (6,3)
READ(5,4)A,B,N
H = (B — A)/FLOAT(N)
HOV2 = H/2.
S=0.
HALF = F(A + HOV2)
NM1 = N~ 1
DO 21 = |,NMI
X = A + FLOAT{)*H
S =S+ FX)
2 HALF = HALF + F(X + HOV2)
S = (H/6.)*(F(A) + 4.*HALF + 2.*S + F(B))
WRITE(6,5)A,B,N,S
GO TO 1
3 FORMAT(28H EXAMPLE 5.4 SIMPSON’S RULE)
4 FORMAT(2E20.0,15) ‘
5 FORMAT(18HO INTEGRAL FROM A = 1PE14.7,7TH TO B = 1PE14.7,
19H FOR N = I54H IS 1PE14.7)
END

—
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